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The speed:
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(y)is=m
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The acceleration:
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Speed rule:
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t0->t     | => 
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· Dv=a*Dt
The equation of the circle:
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R2=OA2+OB2

OA=x

OB=y

· R2=x2+y2
· x2/R2 + y2/R2=1

The elliptical equation
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x2/a2 + y2/b2 = 1

Kepler’s rules :

1st Rule:

The planets are moving on different elliptical traictories around the sun having the sun in one of the focuses.

2nd Rule:

The vector’s ray clears up equal areas in equal time intervals.

3rd Rule:

The square of the revolution period of the planet around the sun is straight proportional with the cube of the big semi-axe of the elliptic which constitutes the traictory of the planet around the sun.

